



Some Characterizations of Neutrosophic Submodules of an R -module

Binu R.^{1*} and Paul Isaac²

¹Department of Mathematics, Rajagiri School of Engineering and Technology, Kerala

²Department of Mathematics, Bharata Mata College, Thrikkakara, Kerala

Submission Info

Communicated by Jagdev Singh

Received August 23rd 2019

Accepted February 27th 2020

Available online December 31st 2020

Abstract

In this paper, we investigate some new characterizations in the algebraic nature of neutrosophic submodule defined over a classical module using single valued neutrosophic set. We additionally characterized the neutrosophic point and determined the algebraic properties of neutrosophic point using the operations defined on neutrosophic submodule. Finally we examined a neutrosophic set as a generator of a neutrosophic submodule and derived some related concepts.

Keywords: Neutrosophic set, Neutrosophic point, Neutrosophic submodule, Neutrosophic ideal, Neutrosophic submodule generated by neutrosophic set.

1 Introduction

A fuzzy set represents vague concepts and contexts expressed in natural language by means of graded membership of elements in $[0, 1]$ which is introduced by Lotfi A. Zadeh in 1965 [14, 25]. In 1986, Atanassov put forward intuitionistic fuzzy set hypothesis as a delineation of a set in which every segment is corresponding with a participation grades and non enrollment [3]. In 1995, Smarandache outlined neutrosophic set in which each element of a set is represented by three differing types of membership values and objective is to narrow the gap between the vague, ambiguous and inexact real world situations [5–7, 23]. Neutrosophic set theory gives a thorough scientific stage in which wispy and uncertain hypothetical phenomena can be managed by hierarchal membership of components.

The algebraic structure in pure mathematics cloning with uncertainty has been studied by some authors. In 1971, Azriel Rosenfield bestowed a seminal paper on fuzzy subgroup and W.J. Liu developed the idea of fuzzy normal subgroup and fuzzy subring. Consolidating neutrosophic set hypothesis with algebraic structures is a rising pattern in the region of mathematical research. In 2011, Isaac.P, P.P.John [12] recognized some algebraic nature of intuitionistic fuzzy submodule of a classical module. Neutrosophic algebraical structures

*Corresponding author: 1984binur@gmail.com

and its properties provide us a solid mathematical foundation to clarify connected scientific ideas in designing, information mining and economics. In this paper we discuss about the generators of a neutrosophic submodule and some related results.

2 Preliminaries

Definition 2.1. [2] Let R be a commutative ring with unity. A module M over R , denoted as M_R is an abelian group with a law of composition written '+' and a scalar multiplication $R \times M \rightarrow M$, written $(r, v) \rightsquigarrow rv$, that satisfy these axioms

1. $1v = v$
2. $(rs)v = r(sv)$
3. $(r+s)v = rv + sv$
4. $r(v+v') = rv + rv' \quad \forall r, s \in R \text{ and } v, v' \in M.$

Definition 2.2. [2] A submodule N of M_R is a nonempty subset of M_R that is closed under addition and scalar multiplication.

Definition 2.3. [21, 24] A neutrosophic set P of the universal set X ($NS(X)$) is defined as

$$P = \{(\eta, t_P(\eta), i_P(\eta), f_P(\eta)) : \eta \in X\}$$

where $t_P, i_P, f_P : X \rightarrow (-0, 1^+)$. The three components t_P, i_P and f_P represent membership value (Percentage of truth), indeterminacy (Percentage of indeterminacy) and non membership value (Percentage of falsity) respectively. These components are functions of non standard unit interval $(-0, 1^+)$ [18].

Remark 2.1. [10, 21] If the components of a neutrosophic set $P, t_P, i_P, f_P : X \rightarrow [0, 1]$, then P is known as single valued neutrosophic set (SVNS).

Remark 2.2. In this paper, we discuss about the algebraic structure M_R -module with underlying set as SVNS. For simplicity SVNS will be called neutrosophic set.

Remark 2.3. U^X denotes the set of all neutrosophic subset of X or neutrosophic power set of X .

Definition 2.4. [17, 21, 22] Let $P, Q \in U^X$. Then P is contained in Q , denoted as $P \subseteq Q$ if and only if $P(\eta) \leq Q(\eta) \quad \forall \eta \in X$, this means that

$$t_P(\eta) \leq t_Q(\eta), i_P(\eta) \leq i_Q(\eta), f_P(\eta) \geq f_Q(\eta), \quad \forall \eta \in X$$

Definition 2.5. [13, 19, 21] The complement of $P = \{(x, t_P(x), i_P(x), f_P(x)) : x \in X\} \in U^X$ is denoted by P^C and defined as $P^C = \{(x, f_P(x), 1 - i_P(x), t_P(x)) : x \in X\}$.

Remark 2.4. $(P^C)^C = P$ where $P \in U^X$

Definition 2.6. [8, 13, 21] Let $P, Q \in U^X$

1. The union $C = \{\eta, t_C(\eta), i_C(\eta), f_C(\eta) : \eta \in X\}$ of P and Q [17] is denoted by $C = P \cup Q$ where

$$t_C(\eta) = t_P(\eta) \vee t_Q(\eta)$$

$$i_C(\eta) = i_P(\eta) \vee i_Q(\eta)$$

$$f_C(\eta) = f_P(\eta) \wedge f_Q(\eta)$$

2. The intersection $C = \{\eta, t_C(\eta), i_C(\eta), f_C(\eta) : \eta \in X\}$ of P and Q [17] is denoted by $C = P \cap Q$ where

$$t_C(\eta) = t_P(\eta) \wedge t_Q(\eta)$$

$$i_C(\eta) = i_P(\eta) \wedge i_Q(\eta)$$

$$f_C(\eta) = f_P(\eta) \vee f_Q(\eta)$$

Definition 2.7. [17, 22] For any $P = \{(\eta, t_P(\eta), i_P(\eta), f_P(\eta)) : \eta \in X\} \in U^X$, the support P^* of P can be defined as

$$P^* = \{\eta \in X, t_P(\eta) > 0, i_P(\eta) > 0, f_P(\eta) < 1\}$$

Definition 2.8. [1, 16] Let $P = \{(\eta, t_P(\eta), i_P(\eta), f_P(\eta)) : \eta \in R\}$ be an $NS(R)$. Then P is called a neutrosophic ideal of R if it satisfies the following conditions $\forall \eta, \theta \in R$

1. $t_P(\eta - \theta) \geq t_P(\eta) \wedge t_P(\theta)$
2. $i_P(\eta - \theta) \geq i_P(\eta) \wedge i_P(\theta)$
3. $f_P(\eta - \theta) \leq f_P(\eta) \vee f_P(\theta)$
4. $t_P(\eta\theta) \geq t_P(\eta) \vee t_P(\theta)$
5. $i_P(\eta\theta) \geq i_P(\eta) \vee i_P(\theta)$
6. $f_P(\eta\theta) \leq f_P(\eta) \wedge f_P(\theta)$

Remark 2.4. We denote the set of all neutrosophic ideals of R by $U(R)$

3 Neutrosophic submodule

Definition 3.1. [8, 9] A neutrosophic subset $P \in U^{M_R}$ is called a neutrosophic submodule of M_R if

1. $t_P(0) = 1, i_P(0) = 1, f_P(0) = 0$
2. $t_P(\eta + \theta) \geq t_P(\eta) \wedge t_P(\theta)$
 $i_P(\eta + \theta) \geq i_P(\eta) \wedge i_P(\theta)$
 $f_P(\eta + \theta) \leq f_P(\eta) \vee f_P(\theta),$ for all η, θ in M_R
3. $t_P(\gamma\eta) \geq t_P(\eta)$
 $i_P(\gamma\eta) \geq i_P(\eta)$
 $f_P(\gamma\eta) \leq f_P(\eta),$ for all η in $M_R,$ for all γ in R

Remark 3.1. We denote neutrosophic submodules over M_R using single valued neutrosophic set by $U(M)$.

Remark 3.2. If $P \in U(M)$, then the neutrosophic components of P can be denoted as $(t_P(\eta), i_P(\eta), f_P(\eta)) \forall \eta \in M_R$.

Definition 3.2. [8] A neutrosophic subset $\gamma P = \{\eta, t_{\gamma P}(\eta), i_{\gamma P}(\eta), f_{\gamma P}(\eta) : \eta \in M_R, \gamma \in R\}$ of M_R where $P \in U^M$ defined as follows

$$t_{\gamma P}(\eta) = \vee \{t_P(\theta) : \theta \in M_R, \eta = \gamma\theta\}$$

$$i_{\gamma P}(\eta) = \vee \{i_P(\theta) : \theta \in M_R, \eta = \gamma\theta\}$$

$$f_{\gamma P}(\eta) = \wedge \{f_P(\theta) : \theta \in M_R, \eta = \gamma\theta\}$$

Proposition 3.1. Let $P = \{\eta, t_P(\eta), i_P(\eta), f_P(\eta); \eta \in M_R\} \in U^{M_R}$, then $t_{\gamma P}(\gamma\eta) \geq t_P(\eta)$, $i_{\gamma P}(\gamma\eta) \geq i_P(\eta)$ and $f_{\gamma P}(\gamma\eta) \leq f_P(\eta)$.

Proof. We have

$$t_{\gamma P}(\gamma\eta) = \vee \{t_P(\theta) : \theta \in M_R, \gamma\eta = \gamma\theta\} \geq t_P(\eta), \forall \eta \in M_R$$

Similarly $i_{\gamma P}(\gamma\eta) \geq i_P(\eta)$. Also

$$f_{\gamma P}(\gamma\eta) = \wedge \{f_P(\theta) : \theta \in M_R, \gamma\eta = \gamma\theta\} \leq f_P(\eta), \forall \eta \in M_R$$

□

Definition 3.3. [8] Let $P = \{\eta, t_P(\eta), i_P(\eta), f_P(\eta); \eta \in M_R\} \in U^{M_R}$, then

$$-P = \{\eta, t_{-P}(\eta), i_{-P}(\eta), f_{-P}(\eta); \eta \in M_R\} \in U^{M_R}$$

where

$$t_{-P}(\eta) = t_P(-\eta), i_{-P}(\eta) = i_P(-\eta), f_{-P}(\eta) = f_P(-\eta), \forall \eta \in M_R$$

Proposition 3.2. [8] If $P = \{\eta, t_P(\eta), i_P(\eta), f_P(\eta); \eta \in M_R\} \in U^{M_R}$, then $1.P = P$ and $(-1)P = -P$

Theorem 3.1. [8] Let $P \in U^{M_R}$, then $P \in U(M)$ if and only if the following properties are satisfied $\forall \eta, \theta \in M_R, \gamma, \beta \in R$

$$i) t_P(0) = 1, i_P(0) = 1, f_P(0) = 0$$

$$ii) t_P(\gamma\eta + \beta\theta) \geq t_P(\eta) \wedge t_P(\theta), i_P(\gamma\eta + \beta\theta) \geq i_P(\eta) \wedge i_P(\theta), f_P(\gamma\eta + \beta\theta) \leq f_P(\eta) \vee f_P(\theta)$$

Theorem 3.2. Let $P \in U(M)$. Then P^* is a neutrosophic submodule of M_R .

Proof. Given $P \in U(M)$ and $P^* = \{\eta \in M_R, t_P(\eta) > 0, i_P(\eta) > 0, f_P(\eta) < 1\}$. Let $\eta, \theta \in P^*$. Then

$$t_P(\eta) > 0, i_P(\eta) > 0, f_P(\eta) < 1$$

$$t_P(\theta) > 0, i_P(\theta) > 0, f_P(\theta) < 1$$

To prove that $\gamma\eta + \beta\theta \in P^*$ where $\gamma, \beta \in R$

\Rightarrow to prove that $t_P(\gamma\eta + \beta\theta) > 0, i_P(\gamma\eta + \beta\theta) > 0, f_P(\gamma\eta + \beta\theta) < 1$

Now

$$\begin{aligned} t_P(\gamma\eta + \beta\theta) &\geq t_P(\gamma\eta) \wedge t_P(\beta\theta) \\ &\geq t_P(\eta) \wedge t_P(\theta) \\ &> 0 \end{aligned}$$

In the same way, we can prove the other two inequalities. Hence the proof.

□

Definition 3.4. Let $P_i, i \in J$ be an arbitrary non empty family of U^{M_R} , then

1. $\bigcap_{i \in J} P_i = \{\eta, t_{\bigcap_{i \in J} P_i}(\eta), i_{\bigcap_{i \in J} P_i}(\eta), f_{\bigcap_{i \in J} P_i}(\eta) : \eta \in M_R\}$ where

$$t_{\bigcap_{i \in J} P_i}(\eta) = \bigwedge_{i \in J} t_{P_i}(\eta)$$

$$i_{\bigcap_{i \in J} P_i}(\eta) = \bigwedge_{i \in J} i_{P_i}(\eta)$$

$$f_{\bigcap_{i \in J} P_i}(\eta) = \bigvee_{i \in J} f_{P_i}(\eta)$$

2. $\bigcup_{i \in J} P_i = \{\eta, t_{\bigcup_{i \in J} P_i}(\eta), i_{\bigcup_{i \in J} P_i}(\eta), f_{\bigcup_{i \in J} P_i}(\eta) : \eta \in M_R\}$ where

$$t_{\bigcup_{i \in J} P_i}(\eta) = \bigvee_{i \in J} t_{P_i}(\eta)$$

$$i_{\bigcup_{i \in J} P_i}(\eta) = \bigvee_{i \in J} i_{P_i}(\eta)$$

$$f_{\bigcup_{i \in J} P_i}(\eta) = \bigwedge_{i \in J} f_{P_i}(\eta)$$

Proposition 3.3. Let $P_i, i \in J$ be an arbitrary non empty family of U^{M_R} , then $\gamma(\bigcup_{i \in J} P_i) = \bigcup_{i \in J} (\gamma P_i)$ for $\gamma \in R$

Proof. Consider $\gamma \bigcup_{i \in J} P_i = \{\eta, t_{\gamma \bigcup_{i \in J} P_i}(\eta), i_{\gamma \bigcup_{i \in J} P_i}(\eta), f_{\gamma \bigcup_{i \in J} P_i}(\eta) : \eta \in M_R, \gamma \in R\}$

Now

$$\begin{aligned} t_{\gamma \bigcup_{i \in J} P_i}(\eta) &= \bigvee \{t_{\bigcup_{i \in J} P_i}(\theta) : \theta \in M_R, \eta = \gamma\theta\} \\ &= \bigvee \{ \bigvee_{i \in J} t_{P_i}(\theta) : \theta \in M_R, \eta = \gamma\theta \} \\ &= \bigvee_{i \in J} t_{\gamma P_i}(\eta) \\ &= t_{\bigcup_{i \in J} \gamma P_i}(\eta) \end{aligned}$$

Similarly $i_{\gamma \bigcup_{i \in J} P_i}(\eta) = i_{\bigcup_{i \in J} \gamma P_i}(\eta)$

Now

$$\begin{aligned} f_{\gamma \bigcup_{i \in J} P_i}(\eta) &= \bigwedge \{f_{\bigcup_{i \in J} P_i}(\theta) : \theta \in M_R, \eta = \gamma\theta\} \\ &= \bigwedge \{ \bigwedge_{i \in J} f_{P_i}(\theta) : \theta \in M_R, \eta = \gamma\theta \} \\ &= \bigwedge_{i \in J} f_{\gamma P_i}(\eta) \\ &= f_{\bigcup_{i \in J} \gamma P_i}(\eta) \end{aligned}$$

Hence $\gamma(\bigcup_{i \in J} P_i) = \bigcup_{i \in J} (\gamma P_i)$ for $\gamma \in R$ □

Theorem 3.3. Let $P_i, i \in J$ be an arbitrary non empty family of $U(M)$, then $\bigcap_{i \in J} P_i \in U(M)$

Proof. We have $\bigcap_{i \in J} P_i = \{\eta, t_{\bigcap_{i \in J} P_i}(\eta), i_{\bigcap_{i \in J} P_i}(\eta), f_{\bigcap_{i \in J} P_i}(\eta) : \eta \in M_R\}$ and

$$t_{\bigcap_{i \in J} P_i}(0) = \bigwedge_{i \in J} t_{P_i}(0) = 1$$

$$i_{\bigcap_{i \in J} P_i}(0) = \bigwedge_{i \in J} i_{P_i}(0) = 1$$

$$f_{\bigcap_{i \in J} P_i}(0) = \bigvee_{i \in J} f_{P_i}(0) = 0$$

Now

$$\begin{aligned} t_{\bigcap_{i \in J} P_i}(\gamma\eta + \beta\theta) &= \bigwedge_{i \in J} t_{P_i}(\gamma\eta + \beta\theta) \\ &\geq \bigwedge_{i \in J} (t_{P_i}(\eta) \wedge t_{P_i}(\theta)) \\ &= [\bigwedge_{i \in J} t_{P_i}(\eta)] \wedge [\bigwedge_{i \in J} t_{P_i}(\theta)] \\ &= t_{\bigcap_{i \in J} P_i}(\eta) \wedge t_{\bigcap_{i \in J} P_i}(\theta) \end{aligned}$$

in the same way we can derive

$$\begin{aligned} i_{\bigcap_{i \in J} P_i}(\eta + \theta) &\geq i_{\bigcap_{i \in J} P_i}(\eta) \wedge i_{\bigcap_{i \in J} P_i}(\theta) \\ f_{\bigcap_{i \in J} P_i}(\eta + \theta) &\leq f_{\bigcap_{i \in J} P_i}(\eta) \vee f_{\bigcap_{i \in J} P_i}(\theta) \end{aligned}$$

Hence $\bigcap_{i \in J} P_i \in U(M)$ □

Definition 3.5. [20] Let $P, Q \in U^{M_R}$, then the sum

$$P + Q = \{\eta, t_{P+Q}(\eta), i_{P+Q}(\eta), f_{P+Q}(\eta) : \eta \in M_R\} \in U^{M_R}$$

defined as follows

$$\begin{aligned} t_{P+Q}(\eta) &= \vee \{t_P(\theta) \wedge t_Q(\vartheta) \mid \eta = \theta + \vartheta, \theta, \vartheta \in M_R\} \\ i_{P+Q}(\eta) &= \vee \{i_P(\theta) \wedge i_Q(\vartheta) \mid \eta = \theta + \vartheta, \theta, \vartheta \in M_R\} \\ f_{P+Q}(\eta) &= \wedge \{f_P(\theta) \vee f_Q(\vartheta) \mid \eta = \theta + \vartheta, \theta, \vartheta \in M_R\} \end{aligned}$$

Definition 3.6. Let $P_i, i \in J$ be an arbitrary family of $U(M)$ where $P_i = \{\eta, t_{P_i}(\eta), i_{P_i}(\eta), f_{P_i}(\eta) : \eta \in M\}$ for each $i \in J$. Then

$$\sum_{i \in J} P_i = \{\eta, t_{\sum P_i}(\eta), i_{\sum P_i}(\eta), f_{\sum P_i}(\eta) : \eta \in M_R\}$$

where

$$\begin{aligned} t_{\sum P_i}(\eta) &= \vee \{ \bigwedge_{i \in J} t_{P_i}(\eta_i) : \eta_i \in M_R, \sum_{i \in J} \eta_i = \eta \} \quad \forall \eta \in M_R \\ i_{\sum P_i}(x) &= \vee \{ \bigwedge_{i \in J} i_{P_i}(M_i) : \eta_i \in M_R, \sum_{i \in J} \eta_i = \eta \} \quad \forall \eta \in M_R \\ f_{\sum P_i}(x) &= \wedge \{ \bigvee_{i \in J} f_{P_i}(\eta_i) : \eta_i \in M_R, \sum_{i \in J} \eta_i = \eta \} \quad \forall \eta \in M_R \end{aligned}$$

where, in $\sum_{i \in J} \eta_i$, at most finitely $\eta_i \neq 0$.

Theorem 3.4. If $P, Q \in U(M)$, then $P + Q \in U(M)$

Proof. It is enough to prove $P + Q$ satisfies the properties listed below $\forall \eta, \theta \in M_R, \gamma, \beta \in R$

1. $t_{P+Q}(0) = 1, i_{P+Q}(0) = 1, f_{P+Q}(0) = 0$.
2. $t_{A+B}(\gamma\eta + \beta\theta) \geq t_{P+Q}(\eta) \wedge t_{P+Q}(\theta), i_{P+Q}(\gamma\eta + \beta\theta) \geq i_{P+Q}(\eta) \wedge i_{P+Q}(\theta),$
 $f_{A+B}(\gamma\eta + \beta\theta) \leq f_{P+Q}(\eta) \vee f_{P+Q}(\theta)$

From the definition 3.5, property 1 is obvious because $P, Q \in U(M)$.

Consider

$$\begin{aligned} t_{P+Q}(\eta) \wedge t_{P+Q}(\theta) &= \vee \{t_P(\eta_1) \wedge t_Q(\eta_2) : \eta = \eta_1 + \eta_2\} \wedge \vee \{t_P(\theta_1) \wedge t_Q(\theta_2) : \theta = \theta_1 + \theta_2\} \\ &\leq \vee \{t_P(\gamma\eta_1) \wedge t_Q(\gamma\eta_2) : \eta = \gamma\eta_1 + \gamma\eta_2\} \wedge \vee \{t_P(\beta\theta_1) \wedge t_Q(\beta\theta_2) : \theta = \beta\theta_1 + \beta\theta_2\} \\ &= \vee \{[t_P(\gamma\eta_1) \wedge t_P(\beta\theta_1)] \wedge [t_Q(\gamma\eta_2) \wedge t_Q(\beta\theta_2)] : \eta = \gamma\eta_1 + \gamma\eta_2, \theta = \beta\theta_1 + \beta\theta_2\} \\ &\leq \vee \{t_P(\gamma\eta_1 + \beta\theta_1) \wedge t_Q(\gamma\eta_2 + \beta\theta_2) : \eta + \theta = \gamma\eta_1 + \beta\theta_1 + \gamma\eta_2 + \beta\theta_2\} \\ &\leq t_{P+Q}(\eta + \theta) \text{ where } \eta + \theta = \gamma(\eta_1 + \eta_2) + \beta(\theta_1 + \theta_2) \quad \forall \eta_1, \eta_2, \theta_1, \theta_2 \in M_R \end{aligned}$$

Similarly, $i_{P+Q}(\eta + \theta) \geq i_{P+Q}(\eta) \wedge i_{P+Q}(\theta), f_{P+Q}(\eta + \theta) \leq f_{P+Q}(\eta) \vee f_{P+Q}(\theta)$
 $\Rightarrow P + Q \in U(M)$. □

Corollary 3.4.1. Let $P_i, i \in J$ be a family of neutrosophic submodules of an M_R . Then $\sum_{i \in J} P_i \in U(M)$.

Definition 3.7. For any $\eta \in X$, the neutrosophic point $\hat{N}_{\{\eta\}}$ is defined as

$$\hat{N}_{\{\eta\}}(s) = \{(s, t_{\hat{N}_{\{\eta\}}}, i_{\hat{N}_{\{\eta\}}}, f_{\hat{N}_{\{\eta\}}}) : s \in X\}$$

where

$$\hat{N}_{\{\eta\}}(s) = \begin{cases} (1, 1, 0) & \eta = s \\ (0, 0, 1) & \eta \neq s \end{cases}$$

Remark 3.3. Let X be a non empty set. The neutrosophic point $\hat{N}_{\{0\}}$ in X is defined as $\hat{N}_{\{0\}}(x) = \{(x, t_{\hat{N}_{\{0\}}}, i_{\hat{N}_{\{0\}}}, f_{\hat{N}_{\{0\}}}) : x \in X\}$ where

$$\hat{N}_{\{0\}}(x) = \begin{cases} (1, 1, 0) & x = 0 \\ (0, 0, 1) & x \neq 0 \end{cases}$$

Theorem 3.5. Let $P \in U(M)$. $P = \hat{N}_{\{0\}} \Leftrightarrow P^* = \{0\}$

Proof. If $P = \hat{N}_{\{0\}}$, and $P^* = \{\eta \in M_R, t_P(\eta) > 0, i_P(\eta) > 0, f_P(\eta) < 1\} = \{0\}$. Conversely, if $P^* = \{0\} \Rightarrow t_P(0) > 0, i_P(0) > 0, f_P(\eta) < 1$ and $t_P(\eta) = 0, i_P(\eta) = 0$ and $f_P(\eta) = 1 \forall \eta \neq 0$. Therefore

$$P(\eta) = \begin{cases} (1, 1, 0) & \eta = 0 \\ (0, 0, 1) & \eta \neq 0 \end{cases} = \hat{N}_{\{0\}}$$

□

4 Neutrosophic Submodule Generated by Neutrosophic Set

In this section we study about the $U(M)$ of M_R generated by single valued neutrosophic set defined over a classical module .

Definition 4.1. Let $p = \{\eta, t_p(\eta), i_p(\eta), f_p(\eta) : \eta \in M_R\} \in U^M$. Then the $U(M)$ of M_R generated by neutrosophic set P can be denoted and defined as

$$\langle P \rangle = \cap \{Q | P \subseteq Q : Q \in U(M)\}$$

Remark 4.1. If $Q = \langle P \rangle$, then P is called generator of Q .

Theorem 4.1. Let $P_i = \{(\eta, t_{P_i}(\eta), i_{P_i}(\eta), f_{P_i}(\eta)) : i \in J, \eta \in M_R\}$ be an arbitrary non empty family of $NS(M_R)$. Then $\langle \cup_{i \in J} P_i \rangle = \sum_{i \in J} P_i$

Proof. By a corollary 3.4.1, we can write

$$\sum_{i \in J} P_i = \{\eta, t_{\sum_{i \in J} P_i}(\eta), i_{\sum_{i \in J} P_i}(\eta), f_{\sum_{i \in J} P_i}(\eta) : \eta \in M_R\} \in U(M)$$

where, for all η in M_R

$$t_{\sum_{i \in J} P_i}(\eta) = \vee \{ \wedge_{i \in J} t_{P_i}(\eta_i) : \eta_i \in M_R, \sum_{i \in J} \eta_i = \eta \}$$

$$i_{\sum_{i \in J} P_i}(\eta) = \vee \{ \wedge_{i \in J} i_{P_i}(\eta_i) : \eta_i \in M_R, \sum_{i \in J} \eta_i = \eta \}$$

$$f_{\sum_{i \in J} P_i}(\eta) = \wedge \{ \vee_{i \in J} f_{P_i}(\eta_i) : \eta_i \in M_R, \sum_{i \in J} \eta_i = \eta \}$$

where, in $\sum_{i \in J} \eta_i$ finitely η_i 's $\neq 0$

So we can conclude for all η in M_R

1. $t_{P_i}(\eta) \leq t_{\sum_{i \in J} P_i}(\eta), \forall \eta \in M_R$

2. $i_{P_i}(\eta) \leq i_{\sum_{i \in J} P_i}(\eta), \forall \eta \in M_R$

$$3. f_{P_i}(\eta) \geq f_{\sum_{i \in J} P_i}(\eta), \forall \eta \in M_R$$

Hence $P_i \subseteq \sum_{i \in J} P_i, \forall i \in J$.

Now to prove that $\sum_{i \in J} P_i$ is the least neutrosophic submodule and $\sum_{i \in J} P_i$ contains all P_i 's. Let $Q = \{\eta, t_Q(\eta), i_Q(\eta), f_Q(\eta) : \eta \in M_R\} \in U(M)$ and $P_i \subseteq Q, \forall i \in J$, which means that

$$t_{P_i}(\eta) \leq t_Q(\eta), i_{P_i}(\eta) \leq i_Q(\eta), f_{P_i}(\eta) \geq f_Q(\eta) \forall i \in J$$

Let $\eta \in M_R$ where $\sum_{i \in J} \eta_i = \eta$ and only finitely $\eta_i \neq 0$, then

$$\begin{aligned} t_{\sum_{i \in J} P_i}(\eta) &= \vee \{ \wedge_{i \in J} t_{P_i}(\eta_i) : \eta_i \in M_R, \sum_{i \in J} \eta_i = \eta \} \\ &\leq \vee \{ \wedge_{i \in J} t_Q(\eta_i) : \eta_i \in M, \sum_{i \in J} \eta_i = \eta \} \\ &\leq \vee \{ t_Q(\sum_{i \in J} \eta_i) : \eta_i \in M_R, \sum_{i \in J} \eta_i = \eta \} \\ &= t_Q(\eta) \end{aligned}$$

In the same way, $i_{\sum_{i \in J} P_i}(\eta) \leq i_Q(\eta), f_{\sum_{i \in J} P_i}(\eta) \geq f_Q(\eta)$.

$\Rightarrow \sum_{i \in J} P_i \subseteq Q$. Hence $\sum_{i \in J} P_i \in U(M)$ is the smallest one and contains all P_i 's. Therefore $\sum_{i \in J} P_i$ is the smallest $U(M)$ which contains $\cup_{i \in J} P_i \subseteq \sum_{i \in J} P_i$. Hence $\langle \cup_{i \in J} P_i \rangle = \sum_{i \in J} P_i$ \square

Definition 4.2. Let $C \in U(R)$ and $P \in NS(M_R)$. Define the operations $C \odot P$ and $C \otimes P$ as $NS(M_R)$ as follows

1. $C \odot P (\eta) = (\eta, t_{C \odot P}(\eta), i_{C \odot P}(\eta), f_{C \odot P}(\eta)) \forall \eta \in M$ where

$$\begin{aligned} t_{C \odot P}(\eta) &= \vee \{ t_C(\gamma) \wedge t_P(\theta) : \gamma \in R, \theta \in M, \gamma\theta = \eta \} \\ i_{C \odot P}(\eta) &= \vee \{ i_C(\gamma) \wedge i_P(\theta) : \gamma \in R, \theta \in M, \gamma\theta = \eta \} \\ f_{C \odot P}(\eta) &= \wedge \{ f_C(\gamma) \vee f_P(\theta) : \gamma \in R, \theta \in M, \gamma\theta = \eta \} \end{aligned}$$

2. $C \otimes P (\eta) = (\eta, t_{C \otimes P}(\eta), i_{C \otimes P}(\eta), f_{C \otimes P}(\eta)) \forall \eta \in M$ where

$$\begin{aligned} t_{C \otimes P}(\eta) &= \vee \{ \wedge_{i=1}^n (t_C(\gamma_i) \wedge t_P(\eta_i)) : \gamma_i \in R, \eta_i \in M, \sum_{i=1}^n \gamma_i \eta_i = \eta, 1 \leq i \leq n, n \in \mathbb{N} \} \\ i_{C \otimes P}(\eta) &= \vee \{ \wedge_{i=1}^n (i_C(\gamma_i) \wedge i_P(\eta_i)) : \gamma_i \in R, \eta_i \in M, \sum_{i=1}^n \gamma_i \eta_i = \eta, 1 \leq i \leq n, n \in \mathbb{N} \} \\ f_{C \otimes P}(\eta) &= \wedge \{ \vee_{i=1}^n (f_C(\gamma_i) \vee f_P(\eta_i)) : \gamma_i \in R, \eta_i \in M, \sum_{i=1}^n \gamma_i \eta_i = \eta, 1 \leq i \leq n, n \in \mathbb{N} \} \end{aligned}$$

Theorem 4.2. Let $P \in U^{M_R}$, then

$$1. \forall \gamma \in R, \hat{N}_{\{\gamma\}} \odot P = \gamma P$$

2. $\forall \gamma \in R, \eta \in M, \hat{N}_{\{\gamma\}} \otimes P(\eta) = \{\eta, t_{\hat{N}_{\{\gamma\}} \otimes P}(\eta), i_{\hat{N}_{\{\gamma\}} \otimes P}(\eta), f_{\hat{N}_{\{\gamma\}} \otimes P}(\eta)\}$ where $1 \leq i \leq n, n \in \mathbb{N}$

$$t_{\hat{N}_{\{\gamma\}} \otimes P}(\eta) = \vee \{ \wedge_{i=1}^n t_P(\eta_i) : \eta_i \in M, \gamma \sum_{i=1}^n \eta_i = \eta \}$$

$$i_{\hat{N}_{\{\gamma\}} \otimes P}(\eta) = \vee \{ \wedge_{i=1}^n i_P(\eta_i) : \eta_i \in M, \gamma \sum_{i=1}^n \eta_i = \eta \}$$

$$f_{\hat{N}_{\{\gamma\}} \otimes P}(\eta) = \wedge \{ \vee_{i=1}^n f_P(\eta_i) : \eta_i \in M, \gamma \sum_{i=1}^n \eta_i = \eta \}$$

Proof. (1) The neutrosophic point $\hat{N}_{\{\gamma\}}$, for any $\gamma \in R$, is defined as $\hat{N}_{\{\gamma\}}(\zeta) = \{(\zeta, t_{\hat{N}_{\{\gamma\}}}, i_{\hat{N}_{\{\gamma\}}}, f_{\hat{N}_{\{\gamma\}}}) : \zeta \in R\}$ where

$$\hat{N}_{\{\gamma\}}(\zeta) = \begin{cases} (1, 1, 0) & \gamma = \zeta \\ (0, 0, 1) & \gamma \neq \zeta \end{cases}$$

Consider $\hat{N}_{\{\gamma\}} \odot P(\eta) = \{(\eta, t_{\hat{N}_{\{\gamma\}} \odot P}(\eta), i_{\hat{N}_{\{\gamma\}} \odot P}(\eta), f_{\hat{N}_{\{\gamma\}} \odot P}(\eta))\} \forall \eta \in M_R, \gamma \in R$, we have

$$\begin{aligned} t_{\hat{N}_{\{\gamma\}} \odot P}(\eta) &= \vee \{t_{\hat{N}_{\{\gamma\}}}(\zeta) \wedge t_P(\theta) : \zeta \in R, \theta \in M_R, \zeta\theta = \eta\} \\ &= \vee \{t_P(\theta) : \theta \in M, \gamma = \eta\} \\ &= t_{\gamma P}(\eta) \end{aligned}$$

Similarly we get, $i_{\hat{N}_{\{\gamma\}} \odot P}(\eta) = i_{\gamma P}(\eta), f_{\hat{N}_{\{\gamma\}} \odot P}(\eta) = f_{\gamma P}(\eta)$

(2) Now consider, for any $\gamma \in R, \eta \in M_R, 1 \leq i \leq n, n \in \mathbf{N}$

$$\begin{aligned} t_{\hat{N}_{\{\gamma\}} \otimes P}(\eta) &= \vee \{\wedge_{i=1}^n (t_{\hat{N}_{\{\gamma\}}}(\gamma_i) \wedge t_P(\eta_i) : r_i \in R, \eta_i \in M, \sum_{i=1}^n \gamma_i \eta_i = \eta\} \\ &= \vee \{\wedge_{i=1}^n t_P(\eta_i) : \eta_i \in M_R, \gamma \sum_{i=1}^n \eta_i = \eta\} \end{aligned}$$

Similarly we get

$$i_{\hat{N}_{\{\gamma\}} \otimes P}(\eta) = \vee \{\wedge_{i=1}^n i_P(\eta_i) : \eta_i \in M_R, \gamma \sum_{i=1}^n \eta_i = \eta\}$$

$$f_{\hat{N}_{\{\gamma\}} \otimes P}(\eta) = \wedge \{\vee_{i=1}^n f_P(\eta_i) : \eta_i \in M_R, \gamma \sum_{i=1}^n \eta_i = \eta\}$$

□

Theorem 4.3. *If $P \in U(R)$ and $Q \in U(M)$, then $P \otimes Q \in U(M)$*

Proof. From the definition of $P \otimes Q$, we can write, for all $1 \leq i \leq n, n \in \mathbf{N}$

$$\begin{aligned} t_{P \otimes Q}(0) &= \vee \{\wedge_{i=1}^n (t_P(\gamma_i) \wedge t_Q(\eta_i) : \gamma_i \in R, \eta_i \in M_R, \sum_{i=1}^n \gamma_i \eta_i = 0, \} \\ &= 1 \text{ when } \gamma_i = \eta_i = 0 \forall i, \text{ since } t_P(0) \geq t_P(\gamma) \forall \gamma \in R \end{aligned}$$

Similarly $i_{P \otimes Q}(0) = 1$ and $f_{P \otimes Q}(0) = 0$.

Then prove that $t_{P \otimes Q}(\eta + \theta) \geq t_{P \otimes Q}(\eta) \wedge t_{P \otimes Q}(\theta)$ for $\eta, \theta \in M_R, 1 \leq i \leq n, n \in \mathbf{N}$

$$\begin{aligned}
 t_{P \otimes Q}(\eta + \theta) &= \vee \{ \wedge_{i=1}^n (t_P(\gamma_i) \wedge t_Q(z_i)) : \gamma_i \in R, z_i \in M, \sum_{i=1}^n \gamma_i z_i = \eta + \theta \} \\
 &\geq \vee \{ \wedge_{i=1}^n (t_P(\zeta_i) \wedge t_Q(\eta_i + \theta_i)) : \zeta_i \in R, \eta_i, \theta_i \in M, \sum_{i=1}^n \zeta_i (\eta_i + \theta_i) = \eta + \theta, \forall i \} \\
 &\geq \vee \{ \wedge_{i=1}^n (t_P(\zeta_i) \wedge (t_Q(\eta_i) \wedge t_Q(\theta_i))) : \zeta_i \in R, \eta_i, \theta_i \in M, \sum_{i=1}^n \zeta_i (\eta_i + \theta_i) = \eta + \theta, \forall i \} \\
 &= \vee \{ \wedge_{i=1}^n (t_P(\zeta_i) \wedge (t_Q(\eta_i) \wedge (t_P(\zeta_i) \wedge t_Q(\theta_i)))) : \\
 &\quad \zeta_i \in R, \eta_i, \theta_i \in M, \sum_{i=1}^n \zeta_i (\eta_i + \theta_i) = \eta + \theta \} \\
 &\geq \vee \{ \wedge_{i=1}^n (t_P(\zeta_i) \wedge t_Q(\eta_i)) : \zeta_i \in R, \eta_i \in M, \sum_{i=1}^n \zeta_i \eta_i = \eta \} \wedge \\
 &\quad \vee \{ \wedge_{i=1}^n (t_P(\zeta_i) \wedge t_Q(\theta_i)) : \zeta_i \in R, \theta_i \in M, \sum_{i=1}^n \zeta_i \theta_i = \theta \} \\
 &= t_{P \otimes Q}(\eta) \wedge t_{P \otimes Q}(\theta)
 \end{aligned}$$

Similarly we can prove that $i_{P \otimes Q}(\eta + \theta) \geq i_{P \otimes Q}(\eta) \wedge i_{P \otimes Q}(\theta)$ $\eta, \theta \in M$ and

$f_{P \otimes Q}(\eta + \theta) \leq f_{P \otimes Q}(\eta) \vee f_{P \otimes Q}(\theta)$ $\eta, \theta \in M_R$.

Now for all $1 \leq i \leq n, n \in \mathbf{N}$

$$\begin{aligned}
 t_{P \otimes Q}(\gamma \eta) &= \vee \{ \wedge_{i=1}^n (t_P(\gamma_i) \wedge t_Q(\eta_i)) : \gamma_i \in R, \eta_i \in M_R, \sum_{i=1}^n \gamma_i \eta_i = \gamma \eta \} \\
 &\geq \vee \{ \wedge_{i=1}^n (t_P(\gamma \zeta_i) \wedge t_Q(\theta_i)) : \zeta_i \in R, \theta_i \in M_R, \gamma \sum_{i=1}^n \zeta_i \theta_i = \gamma \eta \} [\text{when } \gamma = 1] \\
 &\geq \vee \{ \wedge_{i=1}^n (t_P(\zeta_i) \wedge t_Q(\theta_i)) : \zeta_i \in R, \theta_i \in M_R, \sum_{i=1}^n \zeta_i \theta_i = \eta, 1 \leq i \leq n, n \in \mathbf{N} \} \\
 &\quad [\text{since } P \in U(R) \Rightarrow t_P(\gamma \zeta_i) \geq t_P(\gamma) \vee t_P(\zeta_i) \geq t_P(\zeta_i)] \\
 &= t_{P \otimes Q}(\eta)
 \end{aligned}$$

Similarly, $i_{P \otimes Q}(r\eta) \geq i_{P \otimes Q}(\eta)$ and $f_{P \otimes Q}(r\eta) \leq f_{P \otimes Q}(\eta)$.

Hence $P \otimes Q \in U(M)$. □

Theorem 4.4. Let $P \in U^{M_R}$ and corresponding to P , define $Q \in U^{M_R}$ such that $Q = \{ \eta, t_Q(\eta), i_Q(\eta), f_Q(\eta) : \eta \in M_R \}$ where

$$\begin{aligned}
 t_Q(\eta) &= \begin{cases} 1 & \eta = 0 \\ \vee \{ \wedge_{i=1}^n t_P(\eta_i) : \sum_{i=1}^n \gamma_i \eta_i = \eta, \eta_i \in M_R, \gamma_i \in R \} & \text{otherwise} \end{cases} \\
 i_Q(\eta) &= \begin{cases} 1 & \eta = 0 \\ \vee \{ \wedge_{i=1}^n i_P(\eta_i) : \sum_{i=1}^n \gamma_i \eta_i = \eta, \eta_i \in M, \gamma_i \in R \} & \text{otherwise} \end{cases} \\
 f_Q(\eta) &= \begin{cases} 0 & \eta = 0 \\ \wedge \{ \vee_{i=1}^n f_P(\eta_i) : \sum_{i=1}^n \gamma_i \eta_i = \eta, \eta_i \in M_R, \gamma_i \in R \} & \text{otherwise} \end{cases}
 \end{aligned}$$

where $1 \leq i \leq n, n \in \mathbf{N}$. Then $Q \in U(M)$ and $\langle P \rangle = Q$.

Proof. From the definition of Q , $t_P(\eta) \leq t_Q(\eta)$, $i_P(\eta) \leq i_Q(\eta)$ and $f_P(\eta) \geq f_Q(\eta) \forall \eta \in M_R$, then $P \subseteq Q$.

We know $t_Q(0) = 1, i_Q(0) = 1$ and $f_Q(0) = 0$. Let $\gamma \in R, \eta \in M_R$.

If $\gamma\eta = 0$ then

$$t_Q(\gamma\eta) = 1 \geq t_Q(\eta), i_Q(\gamma\eta) = 1 \geq i_Q(\eta) \text{ and } f_Q(\gamma\eta) = 0 \leq f_Q(\eta)$$

Suppose $\gamma\eta \neq 0$ then $\eta \neq 0$ and $\forall 1 \leq i \leq n, n \in \mathbf{N}$

$$\begin{aligned} t_Q(\gamma\eta) &= \vee \{ \wedge_{i=1}^n t_P(\eta_i) : \sum_{i=1}^n \gamma_i \eta_i = \gamma\eta, \eta_i \in M_R, \gamma_i \in R, \} \\ &\geq \vee \{ \wedge_{i=1}^n t_P(\eta_i) : \sum_{i=1}^n \gamma \zeta_i \eta_i = \gamma\eta, \eta_i \in M_R, \zeta_i \in R \} \\ &\geq \vee \{ \wedge_{i=1}^n t_P(\eta_i) : \gamma \sum_{i=1}^n \zeta_i \eta_i = \gamma\eta, \eta_i \in M_R, \zeta_i \in R \} \\ &\geq \vee \{ \wedge_{i=1}^n t_P(\eta_i) : \sum_{i=1}^n \zeta_i \eta_i = \eta, \eta_i \in M_R, \zeta_i \in R \} \\ &\quad (\text{when } \gamma = 1) \\ &= t_Q(\eta) \end{aligned}$$

In the same way we can show that $i_Q(\gamma\eta) \geq i_Q(\eta)$ and $f_Q(\gamma\eta) \leq f_Q(\eta)$

Suppose η, θ and $\eta + \theta \neq 0, \forall 1 \leq i \leq n, n \in \mathbf{N}$, then

$$\begin{aligned} t_Q(\eta + \theta) &= \vee \{ \wedge_{i=1}^n t_A(z_i) : \sum_{i=1}^n \gamma_i z_i = \eta + \theta, z_i \in M_R, \gamma_i \in R \} \\ &\geq \vee \{ \wedge_{i=1}^n t_P(z_i) : z_i = \eta_i + \theta_i, \sum_{i=1}^n \gamma_i (\eta_i + \theta_i) = \eta + \theta, \eta_i, \theta_i \in M, \gamma_i \in R \} \\ &\geq \vee \{ (\wedge_{i=1}^n t_P(\eta_i)) \wedge (\wedge_{i=1}^n t_P(\theta_i)) : z_i = \eta_i + \theta_i, \sum_{i=1}^n \gamma_i \eta_i + \sum_{i=1}^n \gamma_i \theta_i = \eta + \theta, \\ &\quad \eta_i, \theta_i \in M_R, \gamma_i \in R \} \\ &\geq \vee \{ (\wedge_{i=1}^n t_P(\eta_i) : \sum_{i=1}^n \gamma_i \eta_i = \eta, \eta_i \in M_R, \gamma_i \in R \} \wedge \\ &\quad \vee \{ (\wedge_{i=1}^n t_P(\theta_i) : \sum_{i=1}^n \gamma_i \theta_i = \theta, \theta_i \in M, \gamma_i \in R \} \\ &= t_Q(\eta) \wedge t_Q(\theta) \end{aligned}$$

Similarly, $i_Q(\eta + \theta) \geq i_Q(\eta) \wedge i_Q(\theta)$ and $f_Q(\eta + \theta) \leq f_Q(\eta) \vee f_Q(\theta)$.

$\Rightarrow Q \in U(M)$ and $P \subseteq Q$.

Now consider $S = \{ \eta, t_S(\eta), i_S(\eta), f_S(\eta) : \eta \in M_R \} \in U(M)$ and which contains P . Now to prove that $Q \subseteq S$.

From the assumption, $P \subseteq S$,

\Rightarrow

$$t_P(\eta) \leq t_S(\eta), i_P(\eta) \leq i_S(\eta) \text{ and } f_P(\eta) \geq f_S(\eta).$$

Now for all $1 \leq i \leq n$, $n \in \mathbf{N}$

$$\begin{aligned} t_Q(\eta) &= \vee \{ \wedge_{i=1}^n t_P(\eta_i) : \sum_{i=1}^n \gamma_i \eta_i = \eta, \eta_i \in M_R, \gamma_i \in R \} \\ &\leq \vee \{ \wedge_{i=1}^n t_S(\eta_i) : \sum_{i=1}^n \gamma_i \eta_i = \eta, \eta_i \in M_R, \gamma_i \in R \} \\ &\quad [we\ know\ t_S(\eta) = t_S(\sum_{i=1}^n \gamma_i \eta_i) \geq \wedge_{i=1}^n t_S(\gamma_i \eta_i) \geq \wedge_{i=1}^n t_S(\eta_i) \Rightarrow t_S(\eta) \leq \vee(\wedge_{i=1}^n t_S(\eta_i))] \\ &\leq t_S(\eta) \end{aligned}$$

We can derive in the same pattern, $i_Q(\eta) \leq i_S(\eta)$ and $f_Q(\eta) \geq f_S(\eta)$. $\Rightarrow Q \subseteq C$. Thus we can conclude $\langle P \rangle = Q$. \square

5 Conclusion

Neutrosophic submodule is one of the generalizations of a classical algebraic structure, module. The study of neutrosophic submodule give extra promptitude to the classic algebraic structures rather than fuzzy or intuitionistic fuzzy sets because of the investigation of three different level graded functions of each element in $[0, 1]$. This paper has developed a method to identify generator of $U(M)$ and derived algebraic results with the help of some algebraic operators as neutrosophic sets. This work are often extended to the generators of arbitrary nonempty family of neutrosophic submodules and structure preserving properties like isomorphism of neutrosophic submodules. Neutrosophic submodules provide us a solid mathematical foundation to clarify connected scientific ideas in image processing, control theory and economic science.

References

- [1] AAA Agboola and B Davvaz. (2015), On neutrosophic ideals of neutrosophic bci-algebras. *Critical Review*, 10:93–103
- [2] M. Artin. (2011), *Algebra*. Pearson Prentice Hall, <https://books.google.co.in/books?id=QsOfPwAACAAJ>
- [3] Krassimir T Atanassov. (1994), New operations defined over the intuitionistic fuzzy sets. *Fuzzy sets and Systems*, 61(2):137–142
- [4] Jan A Bergstra, Jan Heering, and Paul Klint. (1990), Module algebra. *Journal of the Association for Computing Machinery*, 37(2):335–372
- [5] Binu, R and Isaac, Paul(2020) Neutrosophic Quotient Submodules and Homomorphisms. *Punjab University Journal of Mathematics* 52(1):33-45
- [6] Broumi, Said and Singh, Prem Kumar and Talea, Mohamed and Bakali, Assia and Smarandache, Florentin and Rao, V Venkateswara(2018) Single-Valued Neutrosophic Techniques for Analysis of WIFI Connection *International Conference on Advanced Intelligent Systems for Sustainable Development*,405–412 springer
- [7] Broumi, Said and Nagarajan, Deivanayagampillai and Bakali, Assia and Talea, Mohamed and Smarandache, Florentin and Lathamaheswari, Malayalan(2019) The shortest path problem in interval valued trapezoidal and triangular neutrosophic environment *Complex & Intelligent Systems*,1–12 springer
- [8] Vildan Cetkin, Banu Pazar Varol, and Halis Aygun. (2017), *On neutrosophic submodules of a module*. Infinite Study
- [9] AV Chashkin. (2004), Computation of boolean functions by randomized programs. *Discrete applied mathematics*, 135(1-3):65–82
- [10] WANG Haibin, Florentin Smarandache, Yanqing Zhang, and Rajshekhar Sunderraman. (2010), *Single valued neutrosophic sets*. Infinite Study
- [11] Kul Hur, Pyung Ki Lim, Jeong Gon Lee, and Junhui Kim. (2016), The category of neutrosophic sets. *Neutrosophic Sets and Systems*, page 12
- [12] Paul Isaac and Pearly P John. (2011), On intuitionistic fuzzy submodules of a module. *1*, 1(3):1447–1454
- [13] Cengiz Kahraman and İrem Otay. (2019), *Fuzzy multi-criteria decision-making using neutrosophic sets*. Springer
- [14] George J Klir and Baozung Yuan. (1995), *Fuzzy sets and fuzzy logic: theory and applications*, volume 574. Prentice Hall PTR New Jersey

- [15] John N Mordeson and Davender S Malik. (1998), *Fuzzy commutative algebra*. World scientific
- [16] Mehmet Ali Ozturk and Young Bae Jun. (2018), *Neutrosophic ideals in BCK/BCI-algebras based on neutrosophic points*. Infinite Study
- [17] Surapati Pramanik, Durga Banerjee, and BC Giri. (2016), *Multi-criteria group decision making model in neutrosophic refined set and its application*. Infinite Study
- [18] Abraham Robinson. (2016) *Non-standard analysis*. Princeton University Press
- [19] Neutrosophic Set, Neutrosophic Logic, and Neutrosophic Probability. Neutrosophic sets and systems.
- [20] Florentin Smarandache. (2004) Neutrosophic set-a generalization of the intuitionistic fuzzy set. Technical report, math/0404520
- [21] Florentin Smarandache. 2005, Neutrosophic set-a generalization of the intuitionistic fuzzy set. *International journal of pure and applied mathematics*, 24(3):287
- [22] Florentin Smarandache and Mumtaz Ali. (2015), *Neutrosophic Sets and Systems, book series, Vol. 9*, Infinite Study.
- [23] Florentin Smarandache et al. (2010) Neutrosophic set-a generalization of the intuitionistic fuzzy set. *Journal of Defense Resources Management (JoDRM)*, 1(1):107–116
- [24] Florentin Smarandache and Surapati Pramanik. (2016) *New trends in neutrosophic theory and applications*, volume 1. Infinite Study
- [25] Lotfi A Zadeh. (1965), Fuzzy sets. *Informtaion and control*, 8(3):338–353

This page is intentionally left blank